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‘POLITICAL SCIENCE
Paper : POL-RE-5026

( Select Constitutions—I )
( Regular Elective )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
TS FrRmRs et See fi -

. (@) “The British Constitution is the mother
of all Constitutions.” It was said by
Dicey/Munro/ Ogg and Zink.

( Choose the correct-answer )

“Rifte Remm Seen kR T 1

93 FYFH Dicey/Munro/Ogg and Zink gy
e |

(o7 Teachr F1fR Sferea )
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((2)

T T

(3)

The President of America can appoint

(b) The USA Constitution i ioi (. Tk
) ution 1s rigid. | . the members of the American Cabinet.
('Write Yes or No ) ( Write Yes or No )
SR TR Sfoe] KR | _ vsmﬁw AW @RS FePEae Wi
(s IRl
: (maT=frn)
(0 In which year was ‘Magna Carta’ .
signed? ‘
gn : _ (g) ‘Judicial Review’ is the notable feature
‘RO 1 “To mm-wﬁv t-aﬁa? of which Constitution?
| e S @R RRIR @B gF
(d) The tenure of the US Pres1dent is 5/6/4 a1k
years. o s '
_( Choose the correct answer ) B (h) The House of Lords is the oldest Second
AR TG T ¢ /8 TR Chamber in the world.
(wE T 3?@%@{@1) ' (WnteYes or No )
‘House of Lords’ <31 13‘ S IRATSLF
(e) “The British' Prime Minister is the ?Bﬁ e
ke?stone of the Cabinet arch.” It was '(m‘mmﬁm)
said by Lowell/Morley/Marriot. :
( vChoqls_e the correct answer ) () The total number of judges of the
“Bftg AR - Supreme Court of America is 9/ 10 /20.
2
8 I”’ % FIWH Lowell /Morley/Marriot @ ( Choose the correct answer )
cofRe | mﬁw TN IR m‘fﬁﬂa M A
(% Savchr 1R Lt ) 2/3o/x0
(o= TaFh AR Sferear )
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(4)

() The post of the British Prime Minister is
based on Convention.

( Write True or False )
- RibR A4 M AR oS S |
( 3 1 =Ty fora )

2. Answer the following questions : 2x5=10
O PP T oy
(a) Mention two sources of the British
Constitution.
REER KRR 71 Bt Srmy w1

(b) - Write two qualifications to become the‘
President of the USA.

AR IS TS @ 1 wrfer oy |

(¢) Mention two main Conventions governing
the office of the British Prime Minister.

Bt 24w =@y REeAR e wRe
A1 Bemg 4| i T o

(d) Write two federal features of the
American Constitution.

wwﬁmmﬁwzhwmm.

e) Write two features of the British
Cabinet.

b 33PTer 5 tafE frar

22A/348 ( Continued )

(5)

3. Answer any four of the following questions : _
S5x4=20

wmﬁ@mmﬁ%ﬁ%@zﬁw:

{a) Write a short note on the Vice President
_of America. :

IERINR SoA-qBRT R 9b1 5 B foran |

(b) “The Senate is the strongest Second
Chamber in the world.” Discuss.

“Bed xR R Rowre «Rerdt o%
T LA

() Write a short note on the ji;dicial review.
it AR RE @1 oY Gt o o

(d) Discuss the sources of the British
Constitution.
bz KRR Tormz & R, S w41

(e) Give a short account of the evolution of
the British Constitution.
Bt RO RIrR esR S o1 v 341 fan 1

() Write a short note on the Speaker of the
House of Commons of Britain.

R 9 o W Rea 9o vy Gr
foran
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4. Answer the following questions :

(6)

G PP e ford

(@)

(b)

“The Prime Minister of UK is the

keystone of the Cabinet.” Explam the
statement.

@mamm@mmw
T B 1”7 G BECHT I 41 |

Or / §_1

What are Conventions? What are the
sanctions behind Conventions of the
British Constitutions?

11 e P 7 BB R P
wwwﬁfﬁw

What do you mean by the Cbnstitution?
Discuss the functions and importance
of the Constitution.

a@miﬁm%{mmﬁwwv{wm
Raca e 370
Or / 31

Write a note on the concept of the
Constitutionalism.

ARRReRTE Rcr @51 R fre |

( Continued )

10x4=40

(c)

(d

22A—10*/348

(7))

Compare - and contrast between the
power and function of the House of
Lords and the Senate.

T G IS [RCR SISRCEHT |

Or/W

Discuss the power and functions of the
American President.

Waﬁﬁwwmﬁm
WW'

What is ‘Rule of Law’? Discuss briefly.
‘iz PR &2 SF IMFN

. Or/ 9«1

How is the American Supreme’ Court
formed? Explain the powers and
functions of the American Supreme

Court.

Wmmmmw
@?WWWWW‘
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